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Multiples of 4 NOT mulfiples of 4
92 v 91 v 1080
82 x 80 x
100 v 06 V1438 + 3 = 12 r 2 1080
602 % 799 v ) ]
43 x 74 v 38 + 3 = ﬁ = 122
987,300 v 859,433 v 3 3

Understand and use divisibility rules to include sorting
and classifying improper fractions into those that give
a whole number quotient and those that do not.

/

Explore contexts where you can use either
a multiplication and addition equation or a
division equation with a remainder.

Wy 79 ey very 38 = 3 x 12 + 2
i d Bch - pld D 38 3 0= 12 r 2
VA UAAR A VAT A A . 38 0+ 12 = 3 r 2
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10 times
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The number of legs ‘Number of spiders 1
is ALWAYS 8 fimes
the number of

spiders; Number of legs 8

+10

Number of vases '| '| D
53cm
Number of flowears
When a number is multiplied by 1 it
stays the same.
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x 12 = 108
x 12 = 1080
= 12 = 90
+ 90 = 12

Lengthinm 60

80kg is 10
times 8kg.
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10
To multiply a whole number by 10, place a
zero after the final digit of that number.
The value of

product
dividend

the product in a multiplication equation

becomes the value of the dividend in the

COl

2x9=18
?x2=18

rresponding division equation.
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